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UE . what do
you understand by dimensions
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( definition ?Ay
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Dimensions of a physical quantity arethe powers to which the basic
quantityare raised to represent that quantity.

Eg . Force = mass × Velocity
Time

= mass x length
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⇒ Ahe dimealias of force are l in mass
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I in length and -z in time .

€ Dimensional formula of torque ?
% #torque = force . distance
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Applicationofdimentionalanalysis
1st : - To cheque the correction of an

equation .
a= acceleration

.

eat ¥;t¥I us utareiieiocit
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¥ Find dimensional formula of A
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U = Aat Bt a- distancevelocity←e@-_¥# t = time .
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Blt ) = L'T - l
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Second. application ( unit - conversion
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